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AGHB & AGFD 2BV T,
FLVINZH T HHEA LS,
£GHB = LGFD

HIEAIZELOND,
£BGH = £DGF
2HDABETNENE L VDD,
AGHB > AGFD

(2)

ZBAF = 120° # 5, ZABF = ZAFB = 30°

THAC LEAF 2ATTE 5845 CF XM O WERE,
MO KT 2 BRI 90° 7255, LFAC = 90°

AAGF X /FAG =90°, ZAFG = 30°, ZAGF =60° OEA=ZAKENDL,

AF 6 ;
AG= === —= =2v3, GF=2AG=4v3
V3 V3
ZGAB = ZGBA LY GA =GB, AABF = ABCA LY BF =CA E»b,

GB=2V3, GC=GF=4V3
THE A FTHAD 2ATTE 53845 AD IIH O oEE,
Moz 5 HBR AL 90° Fnd, ZACD = 90°
AGCD I3 ZGCD = 90° DEAZA/EE NG, ZEFOFELY,

GD’ = GC? +CD* = (4V/3)" +62 = 84

GD =84 =221
(1) &9, AGHB « AGFD 7inb,

GB:GD =BH : DF

23 :2v/21 =BH: 63
&oT, 221 BH=236 LV

36 _ 18V/21 _ 6y21

2v/ 21 21 7

(fy
fi 2

«

BEPE, ERAZHELT,IHL TREET, BIZBAD LidbD,
O0<zr<4 D&%, AP=2zcm Th?,
¥7-, AQILEDC Lithh, DQ =2z cm Th 5,
MEF-PBQIX, APBQ #EHEEx5 L, BIMBF=6cm OZFTVTH2,
ZATOVOETEN 50 cm® Eh b,
50:—:13—><APBQ><BF=-13— x APBQx6 XV
APBQ =50+ 2 =25 (cm®)
APBQ = (E 5 ABCD) — AABP — ABCQ — ADPQ
=AB><AD-——%-><AB><AP——;~xBCxCQ—%— x DP x DQ

=8x7——;—x8xx——;—x7x(8-—2m)—%x(7-—x)x2:c
=564z —7Td—z)— (7T —2x) =x? — 42+ 28

THHPG, #?~4r+28=25 XV 22 —424+3=0

ERERESELT (c-1)x-3)=0 &Y z=1,3

ZIhBOMEE, Wb 0<z <4 27T,

roT, KDBzDOEIT z=1, 3
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